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o}, WA o ] 0.5 ppm
2} pH 2=l
vk =Rl EH -83.53°C
v 27 B=d3 54 W9l 19.51 °C
AL 1814 AR
oL T &% A=l
2, 91844 (A, 71 A) EAA 7t
2k Q13 i F9k W 9 o) A3k A=l
7t S71% 917 mmHg (25°C)
el &3l = (7H8%)
3. F7EE 1.27 (34°C, ¥ 71=1)
Eicli 1.002
A N-SeHE /5 2wl Al = A E S
Y. gl A=l
. 23 E AE e
. A= 0.256 cP (0°C, &4 Al)
o], BAek 20.01
rE N2
Nitrogen
-3 71 A
-4 A4
v A 53
ok A 9 ] A5 e
2} pH A=l
Ll e e ! -210°C
vk 27 ZEAR EEH HY -196 °C
A}, 91814 A==
oL TH &= A=l
2k 18k (AL, 714) A5 e
2. 213t e Zd 9] e/ gt A=l
7}, 27t 1 atm (77.347 deg K)
Ef. &3l = (1.18E+004mg/L(25°C))
3 F7E e 0.97 ((air = 1))
el 0.808 (kg/I at the boiling point of < 1)
7. N-SEHZ/E Al 5 0.67
Y. Adugle = A& S
. 2= AE S
R A=l
o, EA 28
10. g/ A M3
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= HF & RA
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LC50 51~340 mg/L 96hr Oncorhynchus mykiss (NIER)
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EC50 97~352 mg/L 48hr D. magna (NIER)

EbC50 43 mg/L 96hr Scenedesmus sp. (NIER)

: log Kow 0.67 (NLM/HSDB)
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* OSHA 71’8 (29CFR1910.119)

- [AL]: slEele

- [ERRE3} 2] 453.599 kg 1000 Ib
* CERCLA 103 17 (40CFR302.4)

- ("] dlEels

- [ERRE3} 4] 453599 kg 100 b
* EPCRA 302 % (40CFR355.30)

- [AL]: slEele

- [ERRE3} 4] 453599 kg 100 Ib
* EPCRA 304 178 (40CFR355.40)

PSR
- [E2223% £4]: 453599 kg 100 Ib
* EPCRA 313 71%d (40CFR372.65)
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of 27{sto] S 2 ox o oy 52 1n{sto] =g
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Lh. &% SR}
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